BY PROFESSIONALS
Tru Hold TO PROFESSIONALS




®

Tru Hold

QUALITY TOOL 15 .
Rs

BOLD CLAMP HOLDER

Stable & Strong clamping with Bold Clamp System

Clamp
Screw <teea.._ .

Clamp <ceecec--

Insert <====°°"°

.‘

Shim <= °°

A

Pin

~N

» Simple and powerful clamping system ensures positioning accuracy when inserts clamping
» Stable structure design and high quality clamp ensures inserts will not move in the high feed processing.

» Optimized design for avoiding chip interference with a powerful clamp, improve inserts life

/

( Always use original TRUHOLD Spares for better inserts life )



Tru Hold

QUALITY TOOL HOL
Rs

BOLD Clamp Type ARIeIo]N50o][s[5]¢5

(5) e/
3 @) ] :

Stock Size @’/ %

Designation Inserts —
Spare KIT| Shim Pin

g Slopper| /

Screw | ring [Wrench

BCKNR/L 2020K12 | 201201125|32|25
BCKNR/L 2525M12 | 25|25|150|32|32|CN--1204--| CN 12 |MC1204|CTMé-S|BC12-100|BCS08| CRO7

BCKNR/L 3232P12 32|32|170|32|40

o=
@ @

L30
L40

L2 LA

Stock Size 8 @
Designation Inserts g/ é fg g /
RIL|A|B|L]|E|F - ReE
Spare KIT| Shim Pin Clamp |[Screw | ring |Wrench
BCLNR/L 2020K12 * 201201125(32|25 L30
BCLNR/L 2525M12 | % | % [25|25/150|32|32|CN--1204-- | CN 12 | MC1204 | CTMé6-S BC12 BCS08| CRQ7 LA.O
BCLNR/L 3232P12 | % 32132|170|32|40 '

(6 ok

Stock Size ©
Designation Inserts g’/ % % g Slooper /
RILAIBIL [E}F Spare KIT| Shim Pin Clamp | Screw riﬁz Wrench
BDJNR 2020K11 20(20]125|36|25|DN--1104-- MD1103|CTM5-S| BD11 |BCS06| CRO5 | L 2.5
BDJNR 2525M11 25|25]150|36|32 L 3.0
BDJNR 2020K15 20120(125|40|25
BDJNR 2525M15 * 25|25|150|40|32|DN--1506--| DN 15 |MD1504|CTMé-L| BD15 |BCS08| CRO7 | L 3.0
BDJNR 3232P15 * 32132|170|40|40 L 40

% = Standard Stock Item

TRUHOLD o CATALOGUE



Tru Hold

QUALITY TOOL HOL
Rs

{o] RN ET, sNis -} Tool Holders
OLEED

0@l

Stock
Designation Inserts g/ g @ /
RILJ|A F Slopper|
Spare KIT| Shim Clamp |Screw | ring |Wrench
BTENN 2020K16 20 10 L25
BTENN 2525M16 * 25 125/ TN--1604-- | TN 16 | MT16-S|CTM5-S| BT 16 |BCS08| CR0O7 | L4.0
(B) BTGNR/L
; . ; -
L |
o
Stock @/ @ /
Designation R - Inserts Spare | T Slopper
KIT Shim Clamp ring | Wrench
BTGNR/L 1616H16 16 20 BT16.N CRO5 | L2.5,L3.0
BTGNR/L 2020K16 20 25|TN--1604-- | TN 16 | MT16-S
BTGNR/L 2525M16 | * 25 32 BT16 CRO7 | L2.5,L40
BTGNR/L 3232P16 32 40
(B) BTINR/L
s '
iz ~
E -
Stock @
Designation Inserts Spare g’/ ‘/g S| /
R|ILJA F i opper
KIT Shim Clamp ring | Wrench
BTINR/L 1616K16 16 20 BT16-N CRO5 | L2530
BTJNR/L 2020K16 * | % |20 25|TN--1604-- | TN 16 | MT16-S
BTIJNR/L 2525M16 | % | % |25 32 BT16 CRO7 | L2.5L40
BTJNR/L 3232P16 32 40

% = Standard Stock Item

TRUHOLD o CATALOGUE



(B aranmL
wEr-n

E

- -
4

2{o] e R@ET,MVI-W Tool Holders

ol

Tru Hold

QUALITY TOOL HOL
Rs

Stock Size ) )
Designation Inserts g/ g % g Slo%er /
RI{L]A|IB|L|E|F Spare KIT| Shim Pin Clamp |Screw | ring [Wrench
BTQNR 2020K16 * 20020|125|32|25
BTANR 2525M16 * 25|25|150|32 |32 | TN--1604-- | TN 16 |MT16-S |CTM5-S| BT 16 |BCS08| CR0O7 | L4.0
BTQNR 3232P16 32132|170|32|40
(B ) BVINR/L
=
7 } o [ ] _ﬁ []
-Fj 4 P; 4 ‘] !1.1 ‘I
il
Stock Size ) ©
Designation Inserts g/ g f/% g Sloppen /
RIL{A[B|L|E|F Spare KIT| Shim Pin Clamp |[Screw | ring |Wrench
BVJNR/L 2020K16 20(20|125|45|25
BVJINR/L 2525M16 | * 25|25| 1501|4532 |VN--1604-- | VN 16 |MV1603 |CTM5-S| BV 16 |BCS06| CR0O5 | L3.0
BVJNR/L 3232P16 * 32132|170|45|40
OED
v B . 1 € *
o | .
Stock Size & P
Designation Inserts g’/ g (/% g Slopper] /
RIL{A[B|L|E|F Spare KIT| Shim Pin Clamp |[Screw | ring |Wrench
BVQANR/L 2020K16 20|20|125|42|25
BVANR/L 2525M16 | * 25|25| 1501|4232 |VN--1604-- | VN 16 |MV1603 |CTM5-S| BV 16 |BCS06| CR0O5 | L3.0
BVQNR/L 3232P16 32132|170|42|40

% = Standard Stock Item

TRUHOLD o CATALOGUE



Tru Hold [o]InNaET) NIy Tool Holders

QUALITY TOOL HOL
Rs

(B) avunn

s S 1 1 e N —y
—<p I - | s B
L‘( Ll’t‘—" I | 1 3 | "
et
-~ L -
Stock Size &) )
Designation Inserts ‘_@)/ é ﬁg g /
R|L|alB|L|E|F - Slopper
Spare KIT| Shim Pin Clamp |Screw | ring |Wrench
BVVNN/L 2020K16 20120(125|48| 10

BVVNN/L 2525M16 | * 25|25|150|48 125/ VN--1604-- | VN 16 | MV1603 |CTM5-S| BV 16 |BCS06| CRO5 | L3.0
BVVNN/L 3232P16 | * 32|132|170|48| 16

(B) BWLNR/L
5 B ni:il

-
-

Stock Size
Designation Inserts g/ % g Sl@ /
R|L|A|B|L|E|F : : opper
Spare KIT| Shim Pin Clamp |Screw| ring [Wrench
BWLNR/L 1616H06 16]16]100|32|20
BWLNR/L 2020K06 | * | * |20|20|125|32|25|WN--0604-- | WN 06 |MW0403 | CTM5-S| BWO6 |BCS06| CROS | L 3.0
BWLNR/L 2525M06 | % | % |25|25|150|32|32
BWLNR/L 3232P06 32|32|170|32|40
BWLNR/L 2020K08 20120|125|32|25
BWLNR/L 2525M08 | * | % |25|25|150|32 |32 |WN--0804-- | WN 06 |MW0804 | CTM6-S| BWO8 |BCS08| CRO7 | L 3.0
BWLNR/L 3232P08 | * 32132|170|32|40 L40

% = Standard Stock Item

TRUHOLD o CATALOGUE



Tru Hold

QUALITY TOOL HOL
Rs

{o]HoNarTy " NIY:I¥ Boring Bar

(B) acinss

Stock Size &) )
Designation Inserts g/ g % g /
RIL|A[B|L]|E|F - RS
Spare KIT| Shim Pin Clamp |Screw | ring | Wrench
S32S.BCLNR/L12 | 40| 32 | 22 250014
S32U.BCLNR/L12 | 401|32.3] 22 350014
S4OT.BCLNR/L12 | * 40| 40 | 27 (300012
S4LOW.BCLNR/L12 40| 40 | 27 450012 |CN--1204-- | CN 12 | MC1204 | CTMé6-S| BC12 |BCS08| CRO7 |L3.0,L4.0
S50U.BCLNR/L12 | * 40| 50 | 35 (350012
S50Y.BCLNR/L12 40|50 | 35 500012
OE=IE
drmin
L 29 e
bk & o
sh‘@ = ‘-.___J
cr-_‘ o — K . i .
Stock Size 8 @
Designation Inserts g’/ é ‘//% g Slopper] /
L{A(B|L]|E[F Spare KIT| Shim Pin Clamp |Screw| ring [Wrench

40132| 22 | 250 |14
40| 27 | 300 |12|CN--1204-- | CN 12 | MC1204 |CTMB-S | CN12-100 | BCS08| CR0O7 | L 4.0
63|50| 35 (35012

5325-BCKNR/L12
S40T-BCKNR/L12
S50U-BCKNR/L12

* |k |%| O
o1
=)

% = Standard Stock Item

TRUHOLD o CATALOGUE



Tru Hold

QUALITY TOOL HOL
Rs

o=

BOLD Clamp Type A:lglil-4=Els

dmin a4
8 oA
' H
L L
Stock Size
Designation Inserts g’/ % g L) /
R{LJAIB|L[E[F Spare KIT| Shim Pin Clamp |Screw | ring [Wrench
S20R-BWLNR/LO6 | * 25|20| 13 | 200 |17 |WN--0604-- | WN 06 - |CTM5-11| BWO06 |BCS06| CR0O5 | L2.5
S25R-BWLNR/LO6 | 32125| 17 | 200 | 14 3.0
S25R-BWLNR/L0O8 32125| 17 | 200 | 14 - |CTM6-N| BWOBN |BCS06| CRO5 | L2.5
S25T-BWLNR/L08 * 32125| 17 | 300 |14 3.0
S32S-BWLNR/L0O8 | 40132| 22 | 250 | 14
S32U-BWLNR/L08 40032] 22 350 14
S40T-BWLNR/L08 * 50 40| 27 | 300 | 12| WN--0804-- | WN 06 |WWO0804| CTM6-S| BWO08 | BC508| CRO7 | L25
S40V-BWLNR/L08 50 |40| 27 | 400 |12 L4.0
S50U-BWLNR/LO8 | * 63150| 35 | 350 |12
S50Y-BWLNR/L08 63150| 35 | 500 |12
OEME
e - 95°
I A A c
i [59 /i Y K B k
/L L E,’* 4 i L/ ) |
A oAt
Stock Size ©@
Designation Inserts g/ % % g Slo%er /
RILIA[B|L|E|F Spare KIT| Shim Pin Clamp | Screw | ring | Wrench
S40T-BDUNR/L1S | * 50| 40 | 27 {30010 | DN--1504-- MD1506 L 30
S50U-BDUNR/L15 63150 | 35 {35010 CTMé-L | BD15 |BC508| CRO7 | L 4.0
S40T-BDUNR/L1S | * 50| 40 | 27 30010 | DN--1506-- | DN 16 | MD1504
S50U-BDUNR/L1S | * 63150 | 35 {35010
(B ) BULNSS
i
ﬁ'{‘., - aefx F:
P S %
. g
(- £ n e
L
Stock Size ©
Designation Inserts g’/ % % g Slopper] /
RIL|AIBIL|E|F Spare KIT| Shim Pin Clamp |Screw | ring [Wrench
S4OT-BVLNR/L16 * 50 40| 26 |300| 15| VN--1604-- | VN 16 |MV1603|CTM5-S| BVI16 |BC506| CRO5 | L 25
S50U-BVLNR/L16 * 63150| 32 |350|12 L30

% = Standard Stock Item

TRUHOLD o CATALOGUE



ENIHY Tool Holders

Tru Hold

QUALITY TOOL 15 Lo
Rs

.T{ i W‘ ne HI
) W A ype inaen
Stock Size S}
Designation Inserts @ & %’g
RILIAIBIL|E|F|F Spare KIT| Shim | Lever | Screw |Shimpin | Wrench
PCKNR/L1616H12 1611610027 16|20
PCKNR/L 2020K12 | * 20|20|125|2720|25|CN--1204-- | CN 12P | SC42 LV4 | VHX0821 SP4 L3.0
PCKNR/L 2525M12 | % | % |25|25|150|27|25|32
PCKNR/L 2525M16 25|25]150]33|25|32
PCKNR/L 3232P16 32132|170|33|32|40|CN--1606-- | CN 16P | SC53 LV5 | VHX0825 | SP5 L3.0
PCKNR/L 3232P19 32132|170|33|32|32|CN--1906-- | CN19P | SC63N | LV6 | VHX1027 | SP6 L4.0
] i i = ] '
] < | W " H
' : 1 '
7 A type insert
B — 4 =
Stock Size S
Designation Inserts @ & %__-
RIL|AIB|L|EFIF Spare KIT | Shim | Lever | Screw | Shimpin | Wrench
PCLNR/L 1616H12 16/16/100/28|16|20
PCLNR/L 2020K12 | * 20(20|125|2820|25|CN--1204-- | CN 12P | SC42 LV4 | VHX0821 SP4 L3.0
PCLNR/L 2525M12 | * 25|25|150]28|25|32
PCLNR/L 3232P12 32132|170|28|32|40
PCLNR/L 2525M16 | % 25|25|150]33|25|32|CN--1606-- | CN 16P | SC53 LV5 | VHX0825 | SP5 L3.0
PCLNR/L 3232P16 | * 32132|170|33|32|40
PCLNR/L 3232P19 | * 32132]170|38|32|40|CN--1906-- | CN19P | SC63N | LV6 | VHX1027 | SP6 L4.0
PCLNR/L 4040P19 | * 40|40]200|38|40|50

% = Standard Stock Item

TRUHOLD {1} CATALOGUE



Tru Hold

Q\JAL\TY TOOL HOLDE
Rs

OEES

SRR Tool Holders

s = w h
PPl - 2l e ’
e i .
Stock Size
Designation Inserts
R HQ Wl L L | H|S Screw WRENCH
SVJBR/L 1212F11 12 12 80 22 12 16
SVJBR/L 1616H11 * 16 16 | 100 | 25 16 20 |VB--1103-- M2.5X8 T8
SVJBR/L 2020K11 * 20 20 | 125 | 32 20 25
SVJBR/L 2525M11 25 25 | 150 | 38 25 32
SVJBR/L 1616H16 16 16 | 100 | 30 16 20
SVJBR/L 2020K16 20 20 | 125 | 32 20 25 | VB--1604-- M3.5X9 T.15
SVJBR/L 2525M16 * 25 25 | 150 | 40 25 32
SVJBR/L 3232P16 32 32 | 170 | 45 32 40
(S ) swuBN
- \ . 79 |
—{ ! w N " <
1 - 1
-
i (o)
C L [yl -
Stock Size %
Designation Inserts g
R H w L L H S Screw Wrench
SVVBN 1212F11 12 12 80 24 12 6
SVVBN 1616H11 16 16 | 100 | 24 16 8 |VB--1103-- M2.5X8 T8
SVVBN 2020K11 20 20 | 125 | 24 20 10
SVVBN 2525M11 25 25 | 150 | 24 25 | 125
SVVBN 1616H16 16 16 100 | 34 16 8
SVVBN 2020K16 20 20 125 | 34 20 10 |VB--1604-- M3.5X9 T.15
SVVBN 2525M16 * 25 25 | 150 | 34 25 1125
SVVBN 3232P16 32 32 | 170 | 34 32 16

% = Standard Stock Item

TRUHOLD @ CATALOGUE




Tru Hold

QUALITY TOOL HOL
Rs

SEL'.c¥ Boring Bar

=T

TS - ] oo

=gy v 5 R e
la - o | Il LK. = B type insed
Stock Size
Designation Inserts
R L d min d s L l a Screw Wrench
S08K-SCKCR/L06 * 10 8 55 | 125 | 21 13 M2.5x5
ST10K-SCKCR/L06 * 11 10 125 | 25 12 | CC--0602-- T8
S12M-SCKCR/L06 * 13 12 150 | 25 10 M2.5X6
S12M-SCKCR/L09 14 12 150 | 30 12
S16Q-SCKCR/L0% * 17 16 25 | 180 | 36 10 |CC--09T3-- M3.5X9 T.15
S20Q-SCKCR/L09 * 21 20 | 115 | 180 | 38 8
S25R-SCKCR/L09 * 27 25 15 | 200 | 42 6
S25R-SCKCR/L12 27 26 15 | 200 | 42 6 | CC--1204-- Mb5X12 T-20
S532S-SCKCR/L12 33 32 32 | 250 | 45 4
OEh
g
Yot ] o
& 5 R e
_|_:J_ 1 r.:_,r.! ] : —": s
Stock Size
Designation Inserts
L d min d s L l a Screw Wrench
S07K-SCLCR/L06 * 8 8 5 125 | 18 15
S08K-SCLCR/L06 9 8 55 | 125 | 18 13
S08K-SCLCR/L06-A16 * 9 16 5 125 | 24 13 | CC--0602-- M2.5x5 T8
S10K-SCLCR/L06 11 10 7 125 | 22 12
S10K-SCLCR/L06-A16 * 1 16 6 125 | 30 12
S12M-SCLCR/L06 * 13 12 8 150 | 25 10 M2.5X6
S12M-SCLCR/L09 * 16 14 55 | 150 | 27 10
S14M-SCLCR/L09 15 12 8 150 | 27 12
S16Q-SCLCR/L0O9 * 17 16 11 180 | 34 1
S520Q-SCLCR/L09 * 21 20 13 | 180 | 38 8 |CC--09T3-- M3.5X9 T.15
S25R-SCLCR/L09 * 26 25 17 | 200 | 45 6
S532S-SCLCR/L09 33 32 22 | 250 | 45 4
S20Q-SCLCR/L12 21 20 13 | 100 | 42 8
S25R-SCLCR/L12 26 25 17 | 200 | 45 8
S32S-SCLCR/L12 33 32 22 | 250 | 45 6 | CC--1204-- MbHX12 T-20
S40T-SCLCR/L12 41 40 27 | 300 | 48 4

% = Standard Stock Item

TRUHOLD 0 CATALOGUE



Tru Hold

Q\JAL\TY TOOL HOLDE
Rs

SEl'/::¥ Boring Bar

'S soucert

U “‘-‘,ﬁ - |
(-} mm— L . oot * e e
Stock Size
Designation Inserts
R L d min d s L l a Screw Wrench
S08K-SDUCR/LO7 10 7 6 125 | 18 12
S10K-SDUCR/LO07 15 10 8 125 | 25 10 M2.5X5
S12M-SDUCR/L07 * 17 12 9 150 | 25 8 |DC--0702-- T8
S16Q-SDUCR/LO7 * 22 16 1 180 | 30 6 M2.5X6
S16Q-SDUCR/L11 * 19 16 1 180 | 34 8
S20Q-SCLCR/L11 23 20 13 | 180 | 40 6
S25R-SDUCR/L11 * 29 25 17 | 200 | 42 5
S532S-SDUCR/L11 38 32 22 | 250 | 45 4 |DC--11T3-- M3.5X9 T.15
S40T-SDUCR/L11 45 40 25 | 300 | 50 4
S50U-SDUCR/L11 60 50 31 350 | 55 0
(S ) sviBR/L
[
Qi @2k % R
.Iu : L 2 e
Stock Size
Designation Inserts
R dmin | d s L ! a Screw Wrench
S10K-SVJBR/L11 1 10 6 125 | 28 13
S12M-SVJBR/L11 * 13 12 7 150 | 35 10 |VB--1103-- M2.5X6 T8
S16Q-SVJBR/L11 * 17 16 95 | 180 | 40 10
S200-SVJBR/L11 21 20 | 115|180 | 45 8 M2.5X8
S16Q-SVIBR/L16 19 16 | 115 | 180 | 48 1
S20Q-SVJBR/L16 * 21 20 | 115|180 | 52 11 | VB--1604-- M3.5X9 T.15
S25R-SVJBR/L16 * 26 25 14 | 200 | 54 7

% = Standard Stock Item

TRUHOLD @ CATALOGUE



Tru Hold

QUALITY TOOL HOL
Rs

SEL'.c¥ Boring Bar

OEI

& ] > -
= A A — e
1 S —
i ! - i
Stock Size
Designation Inserts
R L d min d s L l a Screw Wrench
S12M-SVGBR/L11 16 12 10 | 150 | 30 10
S16Q-SVABR/L11 * 19 16 | 115 ] 180 | 34 10 |VB--1103-- M2.5X6 T8
S200Q-SVABR/L11 * 24 20 14 | 180 | 45 8 M2.5X8
S20Q-SVABR/L16 24 20 14 | 180 | 50 8
S25R-SVQABR/L16 * 29 25 17 | 200 | 50 6 | VB--1604-- M3.5X9 T15
S32S-SVAGBR/L16 * 38 32 | 225 | 250 | 55 8
S4OT-SVABR/L16 47 40 27 | 300 | 55 6
S50U-SVABR/L16 57 50 32 | 350 | 65 4

% = Standard Stock Item

TRUHOLD @ CATALOGUE



Tru Hold

QUALITY TOOL HOL
Rs

QED

SEL:¥ External Threading Tool Holder

| L3 L ] 5’_Ff
\ 5 . W h
A L] ."’_. e A
NS oEm
Stock Size 8
Designation Inserts Spare KIT g@ é
RILIH{WIL]|LIh|I Shim Screw Pin Wrench
SER/L 1212F11 12112| 80 |16|12|205| 11ER/L ----- X M2.5X8 X T-8
SER/L 1212F16 12(12| 80 (16|12 22 M3.5X9 T-15
SER/L 1616H16 16116110020 (16|20.5
SER/L 2020K16 * 20120(125/25|20| 30 |16ER/L----
SER/L 2525M16 * 251251150/32125| 30 STM16 | M3.5X12 | M3X6N T-15
SER/L 3232P16 * 32132|170140(32| 30
SER/L 2525M22 25125(150(32|25| 36
SER/L 3232P22 32|32|170|40|32| 36 |22ER/L----- STM22R | M4X 16 | M4X6N T-20
SER/L 4040R22 40140(200|50|40| 36 STM221
SER/L 3232P27 32|132(170|40|32| 4 |27ER/L---- STM27 M5X20 | M4X6N T-20
SER/L 4040R27 40140120050 40| 40

9 SNR/L SEL¥ Internal Threading Tool Holder

=
axb, ' | 2 J /
W | B EE -
bk - LH_
- L -
Stock Size
Designation D Inserts | Spare KIT

) min RN Shim Screw Pin Wrench
SNR/L 0008K08 * 9.9 | 8| 7 |125| 55 |20|08NR/L---- M2.2X5 T-6
SNR/L 0010K11 13 |10 9 125/ 73|25
SNR/L 0010K11-A16 | * 13 16| 15 (125] 7.3 |30
SNR/L 0012K11 15 |12 11 1125] 84 | 28| 11NR/L---- X M2.5X8 X T-8
SNR/L 0012K11-A16 | * 15 16| 15 |125] 8.4 |36
SNR/L 0013M16 17 16|15 1150/10.3| 32 X M3.5X9 X T-15
SNR/L 0016Q16 * 20 |16| 15 |180(11.5|40
SNR/L 0020Q16 * 24 20| 18 |180|13.4|40
SNR/L 0025R16 * 29 25| 23 1200]16.3|45
SNR/L 0032516 36 32|30 |250(19.6|50 | 16NR/L---- STM16 M3.5X12 | M3X6N T-15
SNR/L 0040T16 44 |40 38 1300(23.8|55
SNR/L 0050U16 56 |50| 48 |350/28.7|60
SNR/L 0020Q-22 27 20| 18 |180|14.9|40 X M4X12-S22 X
SNR/L 0025R-22 32 |25] 23 |200|18.1]45
SNR/L 00325-22 39 32|30 |250(21.5/50 | 22NR/L---- STM22R/L| M4X16 M4X6N T-20
SNR/L 0040T-22 47 |40 38 |300]25.8|55
SNR/L 0050U-22 57 |50 48 |350/20.6|70
SNR/L 00325-27 40 32| 30 |250|22.4| 60
SNR/L 0040T-27 48 50| 36 [300]26.4| 60| 27NR/L---- STM27 MSX20 M4X6N T-20
SNR/L 0050U-27 58 |60 45 |350|31.4|75

% = Standard Stock Item

TRUHOLD @ CATALOGUE




Notes:




Tru Hold

QUALITY TOOL 5 Lo
Rs

TruCut Precision Tools Pvt Ltd
DP-19, Sidco Industrial Estate-WIP
Thirumullaivoyal, Katoor, Chennai-600 062 (India)
© +91-44-26350520 / 26350521
DA< sales@trucut-tool.com
& www.trucut-tool.com

4 Distributed By: )

ToolTech General Trading LLC
PO Box: 235485, Al Qusais, Dubai - UAE
+9714-3313992 / +97154-3616872
Email: sales@tooltech.ae
\_ Website: www.tooltech.ae



acutech
Typewriter
Distributed By:



ToolTech General Trading LLC



acutech
Typewriter

acutech
Typewriter
PO Box: 235485, Al Qusais, Dubai - UAE

+9714-3313992 / +97154-3616872

Email: sales@tooltech.ae

Website:  www.tooltech.ae

acutech
Typewriter

acutech
Typewriter

acutech
Typewriter


	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16

